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. Cisco I0S® AZ E9|0{ 2 Z|A 12.2(19a) IP Plus EE= 12.2, 12.2T, 12.3 &= 12.3T2| 7|E}
Cisco I0S ~AZE Qo] 2iZ|A
. Cisco 3640 2FE{ 27}, Z|4 48DRAM 2! 16Mb Z2HA| HZ2Z|
. Cisco NM-2V Voice/Fax Interface Card Slot Network Module 27 + VIC-2FXS Q/E{H|0|A 7}
= 27§
- A 2lE{m[o|A 27H0] ool M & 7He| & QIE{H|o|A &= ZHZE SHLke| WIC-1T WAN @IE{HH| O]
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SanJose3640A# show run
Bui | di ng configuration..

Current configuration : 1425 bytes

!

version 12.2

service tinestanps debug datetime nsec
service tinestanps |og datetime nmsec
no service password-encryption

|

host nanme SanJose3640A
|

ioggi ng buffered 50000 debuggi ng
|

i' p subnet-zero

5

|'10 i p domai n-1 ookup

|

'cal | rsvp-sync

!



//www.cisco.com/univercd/cc/td/doc/product/access/acs_mod/cis2600/
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cl ass-map match-all voi ce-signaling
mat ch access-group 103

class-map match-all voice-traffic
mat ch access-group 102

|

1

pol i cy-map voice-policy

class voice-traffic

priority 51

! -—-- These are two uncompressed G729 VoIP calls at 24
kpbs each !--- that have voice activity detection (VAD)
disablement. You also need !--- to consider the Layer 2
(L2) overhead. class voice-signaling bandwidth 16 !---
This assigns a queue for voice signaling traffic that
ensures 8 kbps. !--- Note: This action is optional and
has nothing to do with good voice !--- quality. This
queue assignnent is a way to secure signaling

cl ass cl ass-default

fair-queue
!--- The class-default class classifies traffic that
does !--- not fall into one of the class definitions.
The fair-queue conmand !--- associates the default class
wei ghted fair queuing (WQ .

!

!

!
interface Ethernet1/0

i p address 10.89.251. 158 255. 255. 255. 192
hal f - dupl ex

!
interface Serial 1/0

bandwi dt h 1544

ip address 192.168.1.1 255.255.255.0
servi ce-policy output voice-policy
encapsul ati on ppp

| oad-interval 30

cl ockrate 2000000

!

ip classless

iproute 0.0.0.0 0.0.0.0 10.89.251.129

no ip http server

!
access-list 102 pernit udp any any range 16384 32767
access-list 103 permit tcp any eq 1720 any
access-list 103 pernit tcp any any eq 1720
!
voi ce-port 3/0/0

!
voi ce-port 3/0/1

!
voi ce-port 3/1/0

!
voi ce-port 3/1/1




|
di al - peer cor custom
|
|
!
di al - peer voice 1 voip
i nconmi ng cal | ed- nunber
destination-pattern 2...
session target ipv4:192.168.1.2
dtnf-relay h245-al phanumeric
no vad
!
di al - peer voice 2 pots
destination-pattern 1001
port 3/0/0
|
di al - peer voice 3 pots
destination-pattern 1002
port 3/0/1
|
1
line con O
line aux 0
line vty 0 4
password cisco
| ogi n
!
end

SanJose3640A#

SanJose3640A#

SanJose3640A# show version

Cisco Internetwork Operating System Software

IOS (tm 3600 Software (C3640-1S-M, Version 12.2(19a),
RELEASE SOFTWARE (fc2)

Copyright (c) 1986-2003 by cisco Systens, Inc.

Conpi | ed Mon 29- Sep-03 23:45 by pwade

| mge text-base: 0x60008930, data-base: 0x61134000

ROM System Bootstrap, Version 11.1(20) AA2, EARLY
DEPLOYMENT RELEASE SOFTWARE (fcl)

SanJose3640A uptinme is 5 mnutes
Systemreturned to ROM by rel oad
Systeminmage file is "flash:c3640-is-nz. 122-19a. bi n"

cisco 3640 (R4700) processor (revision 0x00) with
126976K/ 4096K bytes of nenory.

Processor board | D 15636516

R4700 CPU at 100Mhz, Inplenmentation 33, Rev 1.0

Bri dgi ng software.

X. 25 software, Version 3.0.0.

Super LAT software (copyright 1990 by Meridi an Technol ogy
Corp) .

1 Ethernet/| EEE 802.3 interface(s)

1 Serial network interface(s)

2 Voice FXOinterface(s)

2 Voice FXS interface(s)

DRAM configuration is 64 bits wide with parity disabl ed
125K bytes of non-volatile configuration menory.

32768K byt es of processor board System flash

(Read/ Wite)

16384K byt es of processor board PCMCIA Slotl flash




(Read/ Wite)
Configuration register is 0x2102

SanJose3640A#

Ec|

Ral ei gh3640A# show run
Bui | di ng configuration..

Current configuration : 1406 bytes
!
version 12.2

service tinmestanps debug dateti ne nsec
service tinmestanps | og datetime nsec
no service password-encryption

|

host nane Ral ei gh3640A
|

| oggi ng buffered 50000 debuggi ng
!
i p subnet-zero
!
!
no i p domai n-1ookup
!
call rsvp-sync
!
!
!
!
!
!
!
cl ass-map match-all voice-signaling
mat ch access-group 103
class-map match-all voice-traffic
mat ch access-group 102
!
!
pol i cy-map voice-policy
class voice-traffic
priority 51
I -—-- These are two uncompressed G729 VoIP calls at 24

kpbs each !--- that have VAD disablement. You also need
to consider !--- the L2 overhead. cl ass voice-signaling
bandwi dth 16 /--- This assigns a queue for voice
signaling traffic that ensures 8 kbps. !--- Note: This

action is optional and has nothing to do with good voice
I--- quality. This queue assignnent is a way to secure
si gnal i ng.

cl ass cl ass-default

fair-queue
!--- The class-default class classifies traffic that
does !--- not fall into one of the class definitions.
The fair-queue conmand !--- associates the default class
WFQ




interface Ethernetl1/0
i p address 10.89.251. 159 255. 255. 255. 192
hal f - dupl ex
!
interface Serial1/0
bandw dt h 1544
i p address 192.168. 1.2 255.255.255.0
service-policy output voice-policy
encapsul ation ppp
| oad-interval 30
!
ip classless
iproute 0.0.0.0 0.0.0.0 10.89.251.129
no ip http server
!
access-list 102 pernit udp any any range 16384 32767
access-list 103 permit tcp any eq 1720 any
access-list 103 pernit tcp any any eq 1720
!
voi ce-port 3/0/0
1
voi ce-port 3/0/1
!
voi ce-port 3/1/0
!
voi ce-port 3/1/1
!
di al - peer cor custom
!
!
!
di al - peer voice 1 voip
i nconmi ng cal | ed- nunber
destination-pattern 1...
session target ipv4:192.168.1.1
dtnf-relay h245-al phanumeric
no vad
!
di al - peer voice 2 pots
destination-pattern 2001
port 3/0/0
!
di al - peer voice 3 pots
destination-pattern 2002
port 3/0/1
!
!
line con O
line aux 0
line vty 0 4
password cisco
| ogi n
!
end

Ral ei gh3640A#

Ral ei gh3640A#

Ral ei gh3640A# show version

Cisco Internetwork Operating System Software

IOS (tm 3600 Software (C3640-1S-M, Version 12.2(19a),
RELEASE SOFTWARE (fc2)

Copyright (c) 1986-2003 by cisco Systens, Inc.

Conpi | ed Mon 29- Sep-03 23:45 by pwade




| mge text-base: 0x60008930, data-base: 0x61134000

ROM System Bootstrap, Version 12.1(17r) [cnong 17r],
RELEASE SOFTWARE (fc1)

Ral ei gh3640A uptinme is 6 minutes
Systemreturned to ROM by rel oad
Systeminmage file is "flash:c3640-is-nz. 122-19a. bi n"

ci sco 3640-A (R4700) processor (revision 0x00) with
94208K/ 4096K bytes of menory.

Processor board |1 D 29851759

R4700 CPU at 100Mhz, Inplenmentation 33, Rev 1.0

Bri dgi ng software.

X. 25 software, Version 3.0.0.

Super LAT software (copyright 1990 by Meridi an Technol ogy
Corp) .

1 Ethernet/| EEE 802.3 interface(s)

1 Serial network interface(s)

2 Voice FXOinterface(s)

2 Voice FXS interface(s)

DRAM configuration is 64 bits wide with parity disabl ed.
123K bytes of non-volatile configuration menory.

32768K byt es of processor board System flash

(Read/ Wite)

16384K byt es of processor board PCMCIA Slot0O flash
(Read/ Wite)

Configuration register is 0x2102

Ral ei gh3640A#

UL show BH2 £33 CIHZ 2|6 E MM X[HE[=0(SSE n20h, o] EE2 AE5tMH show &
= EEL-I = 4] EJ-I-E 2 T JUaLich
- show interface serial 1/0—A|2| QIE{H| O|A Q| & EHE &EQIE = U&LICH
- show call active voice brief(&2t 4 S8 7L EA|) - 85 50l St HEE = = UA&LICh
- show call active voice - 88t 0| 83t WEE = = U&LICH
- show policy-map interface - QIE{H|O[ A 0| A AL St= QoS HAE &g = U&sLCt

5|
- show access list 102 - 4 A0 CHEt HMA SEZ 7|ECE I MEHE 2Holgh = )
SLICH E X Fof F Hoj BHE S A~AStT izl =71 S7t5t=X| &
clear access-list counters 102 B& 2 AldeLICt.
- show voice call summary(Sd &8 2 ZA|) - S| &EE &Qle = U&LICt o] HHE
S3t0l 21ZA0| U=X| R E E A[EFLICE
. show voice port summary(8§4 ZE Q9 ZA|) - S ZEO| HEHE & Q& = /JU&LICt O
HHS SAMIEER2SJFE QIS 32 EA|SL|C
Z

. show voice dsp - Zf ZE0{IM AI&35t= DSP(CIX|E A3 ZZMAM) & El & coder-
decoder(codec)E = QI& &= &L}

San Jose Router & QI
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2oI2 &3t 7| Mo 2IE{H|0|AE & Ql5t04 MSHE 7Hi= O 2 ¢dZ20| U= =elghLct
show interface serial 1/0 FHE2 A& 35104 A|2|Y QIE{H|O|A Q| & ENE & QIR LICE O] B2
Configurations0i| A /23 4l ':‘E* |23 QIE{H|O|AT}  up HEHO| UEX| EQIELICEH E5H OIS &5
O| ZA|El=X| & QIgfLICt.

*+ LCP Open, multilink Open(LCP ) EI‘ 3. O=|7|) PPP 047 A Xo% |'E|'L'HL—|L__|'

. : 1ece, coece - PPP 23 E &3l IP ECfEE MEE = UAS2 YEiE LIt
: weighted fair—2|23 QIE{H| O|A 9| service-policy output CLI(command-line interface)0i i
SELICH LLQE T/485t04 VoD(Voice over Data)2| 24 &=2|& X|HstE 70| MLt

SanJose3640A# show interface serial 1/0

Seriall/0 is up, line protocol is up

Hardware is QU CC Seria

Internet address is 192.168.1.1/24

MIU 1500 bytes, BW 1544 Kbit, DLY 20000 usec

reliability 255/255, txload 1/255, rxload 1/255
Encapsul ati on PPP, | oopback not set

Keepal i ve set (10 sec)

LCP Open

Open: IPCP, CDPCP

Last input 00:00:27, output 00:00:02, output hang never
Last clearing of "show interface" counters 00:00: 05

I nput queue: 0/75/0/0 (sizel/ max/drops/flushes); Total output drops: O
Queueing strategy: weighted fair

Qut put queue: 0/1000/64/0 (size/max total/threshol d/ drops)
Conversations 0/1/256 (active/ max active/ max total)
Reserved Conversations 1/1 (allocated/ max al |l ocat ed)
Avai | abl e Bandwi dth 1091 kil obits/sec

30 second input rate O bits/sec, 0 packets/sec

30 second output rate 0 bits/sec, 0 packets/sec

1 packets input, 16 bytes, 0 no buffer

Recei ved 0 broadcasts, O runts, O giants, O throttles
input errors, 0 CRC, O frane, 0 overrun, O ignored, O abort
packets output, 16 bytes, 0 underruns

output errors, O collisions, O interface resets

output buffer failures, 0 output buffers swapped out
carrier transitions

DCD=up DSR=up DTR=up RTS=up CTS=up

[eNeNeN o]

SanJose3640A#

O £32 ZIRH 7t 43Xl ¢dZAE Eof ELICt. 5¢l X7 EOo[X| 22 DCE UE{H 0|40
Rl BT ST HOISAAR, LS X RIEIIO[AE NM-BASSH 28 T4 9IRS XIH3HK|
L,.=.L|E+ CESt FZR ol Oi7H 7t YX|St=X| 22| 7P§J’°°a+ a2 Hest7t UR[et=X] &
elgftuct.

047| A show call active voice brief 32| £20l= &S &t F 7H2| S3t7+ EAIELICH & %iPE
Raleigh 2FE{0l A San Jose 2t RE{Z, CHE S3HE= San JoseOllA] RaleighZ Q4ZELICH 0| 5
HMeE F2 2BE EAIZl= E24of s MBELICH

. Answer 1001 active( 1001 ) - San Jose7} &7} A& E|= Bt RE RIS LIEFHLICEH

. Tele 3/0s0 - M ZL| E3} B2 LIEFHLICE

. originate 2001 active(2001 A|Z}) - Raleigh(E2l) £2| M&7|7t 88tE s 4IES LIEFHLICY
. Ip 192.168.1.2 - O| IP &} tl| 2 S LIEFLICE.

- Answer 2002 active(2002 ‘& H)- Raleigh7t 8&t7t M&E|= Bt
. 1P 192.168.1.2 - O| IP &} |2 S LIEFHLICE

* Originate 1002 act:.ve(AlEI' 1002 ) San Jose 92| M3}t7 |7} S3HE =4S S LIEFHLICE.

4o
o
e
o
-
s
r
[ul



. rele 3/0/1 - ABZEL| S8l Hl2ES LIEFHLICE

SanJose3640A# show call active voice brief

<|I D>: <start>hs. <i ndex> +<connect> pi d: <peer _i d> <di r> <addr > <st at e>

dur hh:mm ss tx: <packet s>/ <byt es> rx: <packet s>/ <byt es>

I P <ip> <udp> rtt:<tine>ms pl:<play>/<gap>nms |ost:<lost>/<early>/<late>

del ay: <l ast >/ <mi n>/ <max>ns <codec>

MODEMPASS <net hod> buf: <fill s>/ <drains> | oss <overal | % <nul ti pkt >/ <corrected>

| ast <buf event time>s dur:<M n>/ <Max>s

FR <protocol > [int dlci cid] vad:<y/n> dtnf:<y/n> seq: <y/n>

<codec> (payl oad si ze)

ATM <protocol > [int vpi/vci cid] vad:<y/n> dtnf:<y/n> seq: <y/n>

<codec> (payl oad si ze)

Tele <int>: tx:<tot>/<v>/<fax>ms <codec> noise:<l> acom<|> i/o:<l>/<l> dBm

Proxy <ip>: <audi o udp>, <vi deo udp>, <t cp0>, <tcpl>, <tcp2>, <tcp3> endpt: <type>/ <manf>
bw. <req>/<act> codec: <audi 0>/ <vi deo>

tx: <audi o pkts>/<audi o bytes>, <video pkts>/<video bytes>, <t 120 pkts>/<t120 bytes>
rx: <audi o pkts>/<audi o bytes>, <video pkts>/<video bytes>, <t120 pkts>/<t120 bytes>

Total call-legs: 4

11E8 : 115599hs.1 +318 pid: 2 Answer 1001 active

dur 00:00: 29 tx:1545/30900 rx: 1544/ 30880

Tele 3/0/0:20: tx:30890/30890/0mnms g729r8 noise: 0 acom?2 i/0:-35/-44 dBm

11E8 : 115823hs.1 +94 pid:1 originate 2001 active
dur 00:00: 31 tx:1556/31120 rx: 1602/ 32040
IP 192.168.1.2: 17360 rtt:4nms pl: 25590/ 0ns | ost:0/1/0 del ay: 69/ 69/ 70ms g729r8

11F0 : 116855hs.1 +156 pid:1 Answer 2002 active

dur 00:00: 20 tx:1087/21740 rx: 1009/ 20180

IP 192.168.1.2: 16772 rtt:2ms pl: 17270/ 0ns | ost: 0/ 0/ 0 del ay: 69/ 69/ 70ms g729r8
11F0 : 116855hs.2 +156 pid: 3 Originate 1002 active

dur 00:00: 20 tx:1009/20180 rx:1087/21740

Tele 3/0/1 (23): tx:21740/21740/0ns g729r8 noise:0 acomb5 i/0:-40/-40 dBm

Total call-legs: 4

SanJose3640A#
show call active voice 2| 0| E=40i M= &M Sslof CHEr AIMIE HEE XS EHLCt

SanJose3640A# show call active voice

Total call-legs: 4
CENERI C:
Set upTi me=115599 ns
I ndex=1

PeerAddress=1001

Peer SubAddr ess=
Peer | d=2
Peer | f I ndex=9

Logi cal | fI ndex=4
Connect Ti ne=115917
CallDuration=00:05:05
Cal | State=4

Call Origi n=2

Char gedUni t s=0

I nf oType=2
Transm t Packet s=15338



Transm t Byt es=306760

Recei vePacket s=15337

Recei veByt es=306740

TELE:

Connect i onl d=[ 0x38D3783F 0x14F111CC 0x801CFDB1 0x2DOCCAAS5]
I ncom ngConnect i onl d=[ 0x38D3783F 0x14F111CC 0x801CFDB1 0x2DOCCAAS5]
TxDur ati on=306740 ns

Voi ceTxDur at i on=306740 s

FaxTxDur ati on=0 s

Coder TypeRat e=g729r 8

Noi seLevel =0

ACOMLevel =5

Qut Si gnal Level =-43

I nSi gnal Level =- 36

I nf oActivity=2

ERLLevel =5

Sessi onTar get =

| mgPages=0

GENERI C:

Set upTi me=115823 ns

I ndex=1

Peer Addr ess=2001

Peer SubAddr ess=

Peer | d=1

Peer | f I ndex=8

Logi cal | f I ndex=0

Connect Ti ne=115917

Cal | Dur ati on=00: 05: 07

Cal | State=4

Call Oigin=1

Char gedUni t s=0

I nf oType=2

Transm t Packet s=15357

Transm t Byt es=307140

Recei vePacket s=15403

Recei veByt es=308060

VO P:

Connect i onl d[ 0x38D3783F 0x14F111CC 0x801CFDB1 0x2DOCCA4AS5]
I ncom ngConnect i onl d[ 0x38D3783F 0x14F111CC 0x801CFDB1 0x2DOCCAAS5]
Renot el PAddr ess=192. 168. 1. 2

Renot eUDPPor t =17360

Renot eSi gnal | i ngl PAddr ess=192. 168. 1. 2
Rernot eSi gnal | i ngPort =1720

Renot eMedi al PAddr ess=192. 168. 1. 2
Renot eMedi aPort =17360

RoundTri pDel ay=1 s

Sel ect edQoS=best -effort

t x_Dt nf Rel ay=h245- al phanumeric

Fast Connect =TRUE

Separ at e H245 Connecti on=FALSE
H245 Tunnel i ng=TRUE

Sessi onPr ot ocol =ci sco

Sessi onTar get =i pv4: 192. 168. 1. 2
OnTi meRvPl ayout =300810

GapFi |l I Wt hSi | ence=0 s

GapFi | | Wt hPredi cti on=0 ns
GapFi | | Wt hl nt erpol ati on=0 ns
GapFi | | Wt hRedundancy=0 ns

Hi Wat er Pl ayout Del ay=70 s
LoWat er Pl ayout Del ay=69 s

Recei veDel ay=69 ns



Lost Packet s=0

Ear | yPacket s=2

Lat ePacket s=0

VAD = disabled
CoderTypeRate=g729r8

CodecByt es=20

GENERI C:

Set upTi me=116855 ns

I ndex=1

Peer Addr ess=2002

Peer SubAddr ess=

Peer | d=1

Peer | f I ndex=8

Logi cal | f I ndex=0

Connect Ti ne=117011

Cal | Dur ati on=00: 04: 56

Cal | State=4

Call Origi n=2

Char gedUni t s=0

I nf oType=2

Transm t Packet s=14915

Transm t Byt es=298300

Recei vePacket s=14837

Recei veByt es=296740

VA P:

Connect i onl d[ 0x6C135AD4 0x14F311CC 0x8024CE4C 0xAA60AB15]
I ncom ngConnect i onl d[ Ox6C135AD4 0x14F311CC 0x8024CE4C 0xAA60AB15]
Renot el PAddr ess=192. 168. 1. 2
Renot eUDPPor t =16772

Renot eSi gnal | i ngl PAddr ess=192. 168. 1. 2
Renot eSi gnal | i ngPort =11004

Rernot eMedi al PAddr ess=192. 168. 1. 2
Renot eMedi aPort =16772

RoundTri pDel ay=7 s

Sel ect edQoS=best -effort

t x_Dt nf Rel ay=h245- al phanumeric
Fast Connect =TRUE

Separ at e H245 Connecti on=FALSE
H245 Tunnel i ng=TRUE

Sessi onPr ot ocol =ci sco
Sessi onTar get =

OnTi meRvPl ayout =295580
GapFi |l I Wt hSi | ence=0 s
GapFi | | Wt hPredi cti on=0 ns
GapFi | | Wt hl nt erpol ati on=0 ns
GapFi | | Wt hRedundancy=0 ns
Hi Wat er Pl ayout Del ay=70 s
LoWat er Pl ayout Del ay=69 s
Recei veDel ay=69 ns
LostPackets=0
EarlyPackets=0
LatePackets=0

VAD = disabled
CoderTypeRate=g729r8
CodecByt es=20

GENERI C:

Set upTi me=116855 ns

I ndex=2

Peer Addr ess=1002

Peer SubAddr ess=

Peer | d=3



Peer | f I ndex=10

Logi cal | f I ndex=5

Connect Ti ne=117011

Cal | Dur ati on=00: 04: 59

Cal | St ate=4

Call Oigin=1

Char gedUni t s=0

I nf oType=2

Transm t Packet s=14952
Transm t Byt es=299040

Recei vePacket s=15030

Recei veByt es=300600

TELE:

Connect i onl d=[ 0x6C135AD4 0x14F311CC 0x8024CE4C 0xAA60AB15]
I ncom ngConnect i onl d=[ 0x6C135AD4 0x14F311CC 0x8024CEAC 0xAA60AB15]
TxDur ati on=300600 s

Voi ceTxDur at i on=300600 s
FaxTxDur ati on=0 s

Coder TypeRat e=g729r 8

Noi seLevel =0

ACOMLevel =5

Qut Si gnal Level =-40

I nSi gnal Level =-41

I nf oActivity=2

ERLLevel =5

Sessi onTar get =

| mgPages=0Total call-legs: 4

SanJose3640A#$

O her shows:
show policy-map interface B 2| £240i|= CtSot 22 /2 23 0| Z&FELICH

.30 51000bps - T S310] 5 CHAZE 51kpbsE E AIFLICE.

SanJose3640A# show policy-map interface
Serial1l/0

Service-policy output: voice-policy

Cl ass-map: voice-traffic (match-all)

99403 packets, 6401420 bytes

30 second offered rate 51000 bps, drop rate 0 bps
Mat ch: access-group 102

Queuei ng

Strict Priority

Qut put Queue: Conversation 264

Bandwi dt h 51 (kbps) Burst 1275 (Bytes)

(pkts matched/bytes matched) 407/65676

(total drops/bytes drops) 0/0

Cl ass-nmap: voice-signaling (match-all)

158 packets, 12926 bytes

30 second offered rate O bps, drop rate 0 bps
Mat ch: access-group 103

Queuei ng

Qut put Queue: Conversation 265

Bandwi dt h 16 (kbps) Max Threshol d 64 (packets)
(pkts nmat ched/ byt es mat ched) 158/ 12926
(depth/total drops/no-buffer drops) 0/0/0



Cl ass-map: cl ass-default (match-any)
75 packets, 9221 bytes

30 second offered rate 0 bps,

Mat ch: any
Queuei ng

Fl ow Based Fair Queueing
Maxi mum Nunber of Hashed Queues 256
(total queued/total drops/no-buffer drops) 0/0/0

SanJose3640A#

show access-lists 102 &3 0| =240

* 100676 matches
FE AIEFLICE.

SanJose3640A# show
Ext ended | P access
permt udp any any
SanJose3640A#
SanJose3640A#
SanJose3640A#
SanJose3640A#
SanJose3640A# show
Ext ended | P access
permt udp any any
SanJose3640A#
SanJose3640A#
SanJose3640A# show
Ext ended | P access
permt udp any any
SanJose3640A#
SanJose3640A#
SanJose3640A#
SanJose3640A# show
Ext ended | P access
permt udp any any
SanJose3640A#
SanJose3640A#
SanJose3640A# show
Ext ended | P access
permt udp any any
SanJose3640A#
SanJose3640A#

SanJose3640A#
SanJose3640A# show

- TZ00] <

x

access-lists 102
list 102

range 16384 32767 (100676

access-lists 102
list 102

range 16384 32767 (100930

access-lists 102
list 102

range 16384 32767 (101076

access-lists 102
list 102

range 16384 32767 (101198

access-lists 102
list 102

range 16384 32767 (101304

voice call sum

PORT CODEC VAD VTSP STATE VPM STATE

o &

drop rate 0 bps

ro

& 28 1020]l E5t7| 20 RTP T2/ M 9

matches)

matches)

matches)

matches)

matches)

o
=

rlo

3/0/0 g729r8 n S_CONNECT FXSLS_CONNECT
3/0/1 g729r8 n S_CONNECT FXSLS_CONNECT

3/1/0 - - - FEXOLS_ONHOOK
3/1/1 - - - EXOLS_ONHOOK

SanJose3640A#
SanJose3640A#

SanJose3640A#
SanJose3640A# show
IN QUT

voice port sum

7

P

gt
=

AH
o

ok
fjo



PORT CH SI G TYPE ADM N OPER STATUS STATUS EC

3/0/0 -- fxs-1ls up up off-hook idle y
3/0/1 -- fxs-1ls up up off-hook idle y
3/1/0 -- fxo-1s up dormidle on-hook y
3/1/1 -- fxo-ls up dormidle on-hook y

SanJose3640A#

SanJose3640A# show voice dsp

DSP DSP DSPWARE CURR BOOT PAK TX/ RX
TYPE NUM CH CODEC VERSI ON STATE STATE RST Al VO CEPORT TS ABORT PACK COUNT

C542 001 01 g729r8 3.4.55 busy idle 0 0 3/0/0 NA 0 62487/61902
C542 002 01 g729r8 3.4.55 busy idle 0 0 3/0/1 NA 0 44362/44194
C542 003 01 g71llulaw 3.4.55 IDLE idle O O 3/1/0 NA O 541/546
C542 004 01 g71lulaw 3.4.55 IDLE idle 0 O 3/1/1 NA 0 535/532

SanJose3640A#
Raleigh 2t E ol CHt &0l

Raleigh 2t E{2| & ¢l MRt= San Jose EtRE{2| MRt FAFEFLICE.

Ral ei gh3640A# show interface serial 1/0

Seriall/0 is up, line protocol is up

Hardware is QU CC Seria

Internet address is 192.168.1.2/24

MIU 1500 bytes, BW 1544 Kbit, DLY 20000 usec

reliability 255/255, txload 1/255, rxload 1/255
Encapsul ati on PPP, | oopback not set

Keepal i ve set (10 sec)

LCP Open

Open: IPCP, CDPCP

Last input 00:00: 15, output 00:00:00, output hang never
Last clearing of "show interface" counters 00:12: 33

I nput queue: 0/75/0/0 (sizel/max/drops/flushes); Total output drops: O
Queueing strategy: weighted fair

Qut put queue: 0/1000/64/0 (size/max total/threshol d/ drops)
Conversations 0/1/256 (active/ max active/ max total)
Reserved Conversations 1/1 (allocated/ max al |l ocat ed)
Avai | abl e Bandwi dth 1091 kil obits/sec

30 second input rate O bits/sec, 0 packets/sec

30 second output rate O bits/sec, 0 packets/sec

167 packets input, 6849 bytes, 0 no buffer

Recei ved 0 broadcasts, O runts, O giants, O throttles

O input errors, 0 CRC, O frame, 0O overrun, O ignored, O abort
169 packets output, 6907 bytes, 0 underruns

0 output errors, O collisions, O interface resets

0 output buffer failures, O output buffers swapped out

11 carrier transitions

DCD=up DSR=up DTR=up RTS=up CTS=up

Ral ei gh3640A#

Ral ei gh3640A#

Ral ei gh3640A#

Ral ei gh3640A#

Ral ei gh3640A# show call active voice
Total call-legs: 4



GENERI C:

Set upTi me=209451 ns

I ndex=1

Peer Addr ess=1001

Peer SubAddr ess=

Peer | d=1

Peer | f I ndex=8

Logi cal | f I ndex=0

Connect Ti ne=209543

Cal | Dur ati on=00: 08: 20

Cal | State=4

Call Origi n=2

Char gedUni t s=0

I nf oType=2

Transm t Packet s=25054

Transm t Byt es=501080

Recei vePacket s=25008

Recei veByt es=500160

VA P:

Connect i onl d[ 0x38D3783F 0x14F111CC 0x801CFDB1 0x2DOCCAAS]
I ncom ngConnect i onl d[ 0x38D3783F 0x14F111CC 0x801CFDB1 0x2DOCCAAS5]
Renot el PAddr ess=192. 168. 1. 1
Renot eUDPPort =17210

Renot eSi gnal | i ngl PAddr ess=192. 168.1. 1
Renot eSi gnal | i ngPort =11006

Renot eMedi al PAddr ess=192. 168. 1.1
Renot eMedi aPort =17210

RoundTri pDel ay=3 s

Sel ect edQoS=best -effort

t x_Dt nf Rel ay=h245- al phanumeric
Fast Connect =TRUE

Separ at e H245 Connecti on=FALSE
H245 Tunnel i ng=TRUE

Sessi onPr ot ocol =ci sco
Sessi onTar get =

OnTi meRvPl ayout =497610
GapFi |l I Wt hSi | ence=0 s
GapFi | | Wt hPredi cti on=0 ns
GapFi | | Wt hl nt erpol ati on=0 ns
GapFi | | Wt hRedundancy=0 ns
Hi Wat er Pl ayout Del ay=70 s
LoWat er Pl ayout Del ay=69 s
Recei veDel ay=69 ns

Lost Packet s=0

Ear | yPacket s=1

Lat ePacket s=0

VAD = disabled
CoderTypeRate=g729r8
CodecByt es=20

GENERI C:

Set upTi me=209451 ns

I ndex=2

PeerAddress=2001

Peer SubAddr ess=

Peer | d=2

Peer | f I ndex=9

Logi cal | fI ndex=4

Connect Ti ne=209543
CallDuration=00:08:21

Cal | State=4



Call Oigin=1

Char gedUni t s=0

I nf oType=2

Transm t Packet s=25074
Transm t Byt es=501480
Recei vePacket s=25120
Recei veByt es=502400
TELE:

Connect i onl d=[ 0x38D3783F 0x14F111CC 0x801CFDB1 0x2DOCCAAS5]
I ncom ngConnect i onl d=[ 0x38D3783F 0x14F111CC 0x801CFDB1 0x2DOCCAAS5]
TxDur ati on=502410 s
Voi ceTxDur at i on=502410 s
FaxTxDur ati on=0 s
Coder TypeRat e=g729r 8
Noi seLevel =0
ACOMLevel =1

Qut Si gnal Level =-41

I nSi gnal Level =- 37

I nf oActivity=2
ERLLevel =1

Sessi onTar get =

| mgPages=0

GENERI C:

Set upTi me=210097 ns

I ndex=1

Peer Addr ess=2002

Peer SubAddr ess=

Peer | d=3

Peer | f I ndex=10

Logi cal | f I ndex=5
Connect Ti ne=210638
CallDuration=00:08:10
Cal | State=4

Call Origi n=2

Char gedUni t s=0

I nf oType=2

Transm t Packet s=24606
Transm t Byt es=492120
Recei vePacket s=24605
Recei veByt es=492100
TELE:

Connect i onl d=[ 0x6C135AD4 0x14F311CC 0x8024CE4C 0xAA60AB15]
I ncom ngConnect i onl d=[ 0x6C135AD4 0x14F311CC 0x8024CEAC 0xAA60AB15]
TxDur ati on=492110 ns
Voi ceTxDur at i on=492110 s
FaxTxDur ati on=0 s
Coder TypeRat e=g729r 8
Noi seLevel =0
ACOMLevel =0

Qut Si gnal Level =-46

I nSi gnal Level =- 33

I nf oActivity=2
ERLLevel =0

Sessi onTar get =

| mgPages=0

GENERI C:

Set upTi me=210480 ns

I ndex=1
PeerAddress=1002

Peer SubAddr ess=

Peer | d=1

Peer | f I ndex=8

Logi cal | f I ndex=0
Connect Ti ne=210638



CallDuration=00:08:11

Cal | St ate=4

Call Oigin=1

Char gedUni t s=0

I nf oType=2

Transm t Packet s=24587

Transm t Byt es=491740

Recei vePacket s=24664

Recei veByt es=493280

VO P:

Connect i onl d[ 0x6C135AD4 0x14F311CC 0x8024CE4C 0xAA60AB15]
I ncom ngConnect i onl d[ Ox6C135AD4 0x14F311CC 0x8024CE4C 0xAA60AB15]
Renot el PAddr ess=192. 168. 1. 1

Renot eUDPPor t =18884

Renot eSi gnal | i ngl PAddr ess=192. 168.1. 1
Renot eSi gnal | i ngPort =1720

Renot eMedi al PAddr ess=192. 168. 1.1
Renot eMedi aPort =18884
RoundTripDelay=4 ms

Sel ect edQoS=best -effort

t x_Dt nf Rel ay=h245- al phanumeri c

Fast Connect =TRUE

Separ at e H245 Connecti on=FALSE
H245 Tunnel i ng=TRUE

Sessi onPr ot ocol =ci sco

Sessi onTar get =i pv4: 192. 168. 1.1
OnTi meRvPl ayout =487570

GapFi |l I Wt hSi | ence=0 s

GapFi | | Wt hPredi cti on=0 ns
GapFi | | Wt hl nt erpol ati on=0 ns
GapFi | | Wt hRedundancy=0 ns

Hi Wat er Pl ayout Del ay=70 s
LoWat er Pl ayout Del ay=69 s

Recei veDel ay=69 ns
LostPackets=0

EarlyPackets=1

LatePackets=0

VAD = disabled
CoderTypeRate=g729r8

CodecByt es=20Total call-legs: 4

Ral ei gh3640A#
Ral ei gh3640A#

Ral ei gh3640A# show policy interface
Serial 1/0

Service-policy output: voice-policy

Cl ass-map: voice-traffic (match-all)

113186 packets, 7289624 bytes

30 second offered rate 51000 bps, drop rate 0 bps
Mat ch: access-group 102

Queuei ng

Strict Priority

Qut put Queue: Conversation 264

Bandwidth 51 (kbps) Burst 1275 (Bytes)

(pkts matched/bytes matched) 471/75864

(total drops/bytes drops) 0/0

Cl ass-nmap: voice-signaling (match-all)



162 packets, 13339 bytes

30 second offered rate O bps, drop rate 0 bps
Mat ch: access-group 103

Queuei ng

Qut put Queue: Conversation 265

Bandwi dt h 16 (kbps) Max Threshol d 64 (packets)
(pkts mat ched/ byt es mat ched) 162/13339
(depth/total drops/no-buffer drops) 0/0/0

Cl ass-map: cl ass-default (match-any)

194 packets, 16761 bytes

30 second offered rate O bps, drop rate 0 bps
Mat ch: any

Queuei ng

Fl ow Based Fair Queueing

Maxi mum Nunber of Hashed Queues 256

(total queued/total drops/no-buffer drops) 0/0/0
Ral ei gh3640A#

Ral ei gh3640A# show access-lists 102

Extended | P access list 102

permit udp any any range 16384 32767 (113963 matches)
Ral ei gh3640A#

Ral ei gh3640A#

Ral ei gh3640A# show access-lists 102

Extended | P access list 102

permit udp any any range 16384 32767 (114093 matches)
Ral ei gh3640A#

Ral ei gh3640A#

Ral ei gh3640A# show access-lists 102

Extended | P access list 102

permit udp any any range 16384 32767 (114188 matches)
Ral ei gh3640A#

Ral ei gh3640A#

Ral ei gh3640A# show access-lists 102

Extended | P access list 102

permit udp any any range 16384 32767 (114404 matches)
Ral ei gh3640A#

Ral ei gh3640A#

Ral ei gh3640A#
Ral ei gh3640A# show voice call sum
PORT CODEC VAD VTSP STATE VPM STATE

3/0/0 g729r8 n S_CONNECT FXSLS_CONNECT
3/0/1 g729r8 n S_CONNECT FXSLS_CONNECT
3/1/0 - - - FXOLS_ONHOCK
3/1/1 - - - FXOLS_ONHOOK

Ral ei gh3640A#

Ral ei gh3640A# show voice port sum
IN QUT
PORT CH SI G TYPE ADM N OPER STATUS STATUS EC

3/0/0 -- fxs-1ls up up off-hook idle y
3/0/1 -- fxs-1ls up up off-hook idle y
3/1/0 -- fxo-1s up dormidle on-hook y
3/1/1 -- fxo-ls up dormidle on-hook y

Ral ei gh3640A#



Ral ei gh3640A#
Ral ei gh3640A# show voice dsp

DSP DSP DSPWARE CURR BOOT PAK TX/ RX
TYPE NUM CH CODEC VERSI ON STATE STATE RST Al VO CEPORT TS ABORT PACK COUNT

C542 001 01 g729r8 3.4.55 busy idle 0 0 3/0/0 NA 0 69615/68771
C542 002 01 g729r8 3.4.55 busy idle 0 0 3/0/1 NA 0 51511/51520
C542 003 01 g71lulaw 3.4.55 IDLE idle O O 3/1/0 NA O 541/546
C542 004 01 g71lulaw 3.4.55 IDLE idle 0 O 3/1/1 NA 0 535/532

Ral ei gh3640A¢
= -

=N 4

ol MMoMe HI|ad|o|lM EXE siZEst= Ol AFESE = e HEE NSELICH

2Ax sild HY

o

= show BE2 £ CIHZE[E & oM X|HE[=OI(SSE Do), 0| ES AME5HH show B

£ EM ZNE & T A&LUCH

o m

11 debug BHEE A=™sHT| ol ClHT B0l CHEt 52 HEE HESFAAL.

- debug voip ccapi inout - API(Call Control Application Programming Interface)& S35l A8 &4
22 =xs o).
- debug vpm all - 2 & VPM(virtual voice port module) Y30l C|HZ S &3l &fLct
- show log - 3tE ClH{o| £22 E AlgfLCt
Raleigh®t San Jose2| 74 & ™oM== O RASIEE 0| 2 A0 A= debug voip capi inout
2! debug vpme| B E H™HDF o4 HLICH

Holl M7t U= < 0l &!*._:‘OHA‘I LtQst= debug BWHEES AAELICH £ 047(0of
o} H|m & LICk Compare it E== Beyond Compare®t Z2 AZEQ0{1E AI&35t0{ F EHA
2 H|m5tD AOo|HE & + U&LICt Ol E2 P33 S5tol CHet & x g S Lo

MZX{, S5 S0l 2t RE{HAM Fd0| elst=X] = E L|C}t. debug voip ccapi inout 2! debug vpm
all H2i2 AlststL|Ct 047|9} 7FOI show debug B2 2| EXl|olMH £24El £E=242 San Jose 2 E
01|A-I debug vpm all B o] & stE Eo{FL|C}. Zé-"‘-‘—.o | debug voip ccapi inout & 2|0 4712
45t E ClH E0| EA|ZIZ 2 debug vpm all BHEo| & M3tE AHE = &Lict. of Ul 7+

X| HHS debugvpm all BB 2 AAE ] RIS 2 &d5ELICE

. undebug all BHo| &
s 2xl7f H“é'is* = Q

Fo et £32 4yt ¥ |E-|°|'debug Eo% HI&f A 3t3H
S 15 Sf

M2 debug BHES HgYsterLct clHa &
&L|Ct. enablementE AI2stE ClHO Ec'i'%'ﬁ CPU S| AAE AFZEFLICE

|
A

SanJose3640A# show debug

voi p:

voi p ccAPl function enter/exit debugging is on
Voi ce Port Mdul e session debugging is on

Voi ce Port Mdul e DSP nessage debugging is on
Voi ce Port Mdul e error debugging is on

Voi ce Port Mdul e signaling debugging is on


https://www.cisco.com/cgi-bin/Support/OutputInterpreter/home.pl
//tools.cisco.com/RPF/register/register.do
//www.cisco.com/en/US/tech/tk801/tk379/technologies_tech_note09186a008017874c.shtml

Voi ce Port Mdul e voaal 2 debugging is on
Voi ce Port Mdul e trunk conditioning is on
SanJose3640A#

SanJose3640A#

SanJose3640A#

SanJose3640A#

SanJose3640A#! Call from 1001 to 2001
SanJose3640A#

SanJose3640A#

SanJose3640A#

SanJose3640A#

*Mar 1 00:05:07.675: htsp_dsp_nessage: SEND/ RESP_SI G_STATUS: stat e=0xC ti nestanp=33146

systi ne=30767

*Mar 1 00:05:07.679: htsp_process_event: [3/0/0, FXSLS_ONHOOK, E DSP_SIG_

1100] fxsls_onhook_of fhook htsp_setup_ind

*Mar 1 00:05:07.679: [3/0/0] get_local _station_id calling num= calling nane= calling

ti me=00/ 00 00: 00
*Mar 1 00:05:07.679: cc_api_call_setup_ind

(vdbPt r=0x6217C270, calllnfo={called=, called_

oct 3=0x81, cal | i ng=, cal | i ng_oct 3=0x0, cal | i ng_oct 3a=0x0, cal | i ng_xI at ed=f al se,
subscri ber _type_str=Regul arLi ne, f dest =0, peer _tag=2, prog_ind=3,callinglE present 0},

cal | | D=0x61DAB4F4)
*Mar 1 00:05:07.679: cc_api_call_setup_ind

calling nunmber is null, answer addr dest

pattern 1001 el64_ans_addr O el64_dest _pattern 1
*Mar 1 00:05:07.679: cc_api_call_setup_ind valid dest pattern, copying 1001 to calling

numnber

*Mar 1 00:05:07.679: cc_api_call_setup_ind type 3, prot O

*Mar
*Mar
*Mar
*Mar
*Mar
*Mar

00: 05: 07. 683: ssacCal | Set upl nd

e

00: 05: 07.683: cc_process_call _setup_
00: 05: 07.683: >>>>CCAPI handed cid 5 with tag 2 to app "DEFAULT"

00: 05: 07.683: sess_appl: ev(24=CC_EV_CALL_SETUP_IND), cid(5), disp(0)
00: 05: 07.683: sess_appl: ev(SSA EV_CALL_SETUP_IND), cid(5), disp(0)

i nd (event=0x62107860)

00: 05: 07.683: ccCal | Set Context (calllD=0x5, context=0x620005E8)

*Mar 1 00:05:07.683: ssaCall Setuplnd cid(5), st(SSA_CS _MAPPI NG, ol dst(0),
ev(24)ev->e.evCall Setuplnd.nCal | I nfo.final DestFlag = 0

*Mar 1 00:05:07.683: ccCall SetupAck (call |l D=0x5)

*Mar 1 00:05:07.683: ccCall ReportDigits (calllD=0x5, enabl e=0x1)

*Mar 1 00:05:07.683: cc_api_call _report_digits_done (vdbPtr=0x6217C270, cal || D=0x5,

di sp=0)

*Mar 1 00:05:07.683: sess_appl: ev(53=CC_EV_CALL_REPORT_DI A TS _DONE), cid(5), disp(0)
*Mar 1 00: 05: 07.683: cid(5)st(SSA CS MAPPI NG ev(SSA EV_CALL_REPORT_DI G TS_DONE)
ol dst ( SSA_CS_MAPPI NG) cfi d(-1)csize(0)in(1)fDest(0)
*Mar 1 00:05:07.683: ssaReportDigitsDone cid(5) peer list: (enpty)
*Mar 1 00:05:07.683: ssaReportDigitsDone callid=5 Enabl e succeeded
*Mar 1 00:05:07.687: ccGenerateTone (calll D=0x5 tone=8)

*Mar 1 00:05:07.687: dsp_digit_collect_on:

[3/0/0] packet_l en=20 channel _i d=128 packet _i d=

35 min_inter_del ay=240 nmax_i nter_del ay=9760 m m nake_tine=10 max_make_ti me=100

m n_brake_time=10 max_brake_ti me=100
*Mar 1 00:05:07.687: dsp_soutput: [3/0/0]
*Mar 1 00:05:07.687: dsp_digit_collect_on:

[3/0/0] packet_l en=20 channel _i d=128 packet _i d=

35 min_inter_del ay=240 nmax_i nter_del ay=9760 m m nake_tine=10 max_make_ti me=100

m n_brake_time=10 max_brake_ti me=100
*Mar 1 00:05:07.687: dsp_soutput: [3/0/0]

*Mar 1 00:05:07.687: htsp_process_event: [3/0/0, FXSLS WAI T_SETUP_ACK, E_HTSP_SETUP_ACK]
*Mar 1 00:05:09.455: cc_api_call _digit_begin (dstVdbPtr=0x0, dstCallld=0xFFFFFFFF,

srcCal | 1 d=0x5, digit=2, digit_begin_flags=

rtp_expirati on=0x0, dest_mask=0x1)

0x1, rtp_tinmestanp=0xEB32A6EQ

*Mar 1 00:05:09.455: sess_appl: ev(10=CC EV_CALL_ DIA T_BEA N), cid(5), disp(0)
*Mar 1 00: 05: 09. 455: cid(5)st(SSA CS MAPPI NG ev(SSA EV_DI G T_BEG N)

ol dst (SSA_CS_MAPPI NG) cfi d(-1)csize(0)in(1)fDest(0)
*Mar 1 00:05:09.455: ssalgnore cid(5), st(SSA_CS MAPPING), ol dst(0), ev(10)

*Mar 1 00:05:09.515: cc_api_call _digit_end

(dst vVdbPt r =0x0, dst Cal | | d=0xFFFFFFFF,

srcCal I 1 d=0x5, di gi t =2, dur ati on=95, xrul eCal | i ngTag=0, xrul eCal | edTag=0, dest_mask=0x1),

di gi t _tone_node=0

*Mar 1 00:05:09.515: sess_appl: ev(9=CC EV_CALL_D A T_END), cid(5), disp(0)



*Mar 1 00: 05: 09.515: cid(5)st(SSA CS MAPPI NG ev(SSA EV_CALL_DIGT)
ol dst ( SSA_CS_MAPPI NG) cfi d(-1)csize(0)in(1)fDest(0)

*Mar 1 00:05:09.515: ssabigit

*Mar 1 00:05:09.515: ssabDigit, 0. sct->digit , sct->digit len 0, usrDigit 2,
di gi t _tone_node=0

*Mar 1 00:05:09.515: ssabigit,1. callinfo.called , digit 2, callinfo.calling 1001,
xrul ecal lingtag 0, xrulecalledtag O

*Mar 1 00:05:09.515: ssabigit, 7. callinfo.calling 1001, sct->digit 2, result 1

*Mar 1 00:05:09.635: cc_api_call _digit_begin (dstVdbPtr=0x0, dstCallld=0xFFFFFFFF,
srcCal I 1 d=0x5, digit=0, digit_begin_flags=0x1, rtp_timestanmp=0xEB32A6EOQ
rtp_expirati on=0x0, dest_mask=0x1)

*Mar 1 00:05:09.635: sess_appl: ev(10=CC EV_CALL_ DIA T_BEA N), cid(5), disp(0)

*Mar 1 00: 05: 09. 635: cid(5)st(SSA CS MAPPI NG ev(SSA EV_DI G T_BEG N)

ol dst (SSA_CS_MAPPI NG) cfi d(-1)csize(0)in(1)fDest(0)

*Mar 1 00:05:09.635: ssalgnore cid(5), st(SSA_CS MAPPING), ol dst (0), ev(10)

*Mar 1 00:05:09.695: cc_api_call _digit_end (dstVdbPtr=0x0, dstCallld=0xFFFFFFFF,
srcCal I I d=0x5, di gi t =0, dur ati on=95, xrul eCal | i ngTag=0, xrul eCal | edTag=0, dest_mask=0x1),
di gi t _tone_node=0

*Mar 1 00:05:09.695: sess_appl: ev(9=CC EV_CALL_D A T_END), cid(5), disp(0)

*Mar 1 00: 05: 09. 695: cid(5)st(SSA CS MAPPI NG ev(SSA EV_CALL_DIGT)

ol dst ( SSA_CS_MAPPI NG) cfi d(-1)csize(0)in(1)fDest(0)

*Mar 1 00:05:09.695: ssabigit

*Mar 1 00:05:09.695: ssabDigit, 0. sct->digit 2, sct->digit len 1, usrDigit O,
di gi t _tone_node=0

*Mar 1 00:05:09.695: ssabigit,1. callinfo.called , digit 20, callinfo.calling 1001,
xrul ecal lingtag 0, xrulecalledtag O

*Mar 1 00:05:09.695: ssabigit, 7. callinfo.calling 1001, sct->digit 20, result 1

*Mar 1 00:05:09.815: cc_api_call _digit_begin (dstVdbPtr=0x0, dstCallld=0xFFFFFFFF,
srcCal I 1 d=0x5, digit=0, digit_begin_flags=0x1, rtp_timestanmp=0xEB32A6EOQ
rtp_expirati on=0x0, dest_mask=0x1)

*Mar 1 00:05:09.815: sess_appl: ev(10=CC EV_CALL_ DIA T_BEA N), cid(5), disp(0)

*Mar 1 00: 05: 09.815: cid(5)st(SSA CS MAPPI NG ev(SSA EV_DI G T_BEG N)

ol dst ( SSA_CS_MAPPI NG) cfi d(-1)csize(0)in(1)fDest(0)

*Mar 1 00:05:09.815: ssalgnore cid(5), st(SSA_CS MAPPING), ol dst(0), ev(10)

*Mar 1 00:05:09.875: cc_api_call _digit_end (dstVdbPtr=0x0, dstCallld=0xFFFFFFFF,
srcCal I I d=0x5, di gi t =0, dur ati on=95, xrul eCal | i ngTag=0, xrul eCal | edTag=0, dest_rmask=0x1),
di gi t _tone_node=0

*Mar 1 00:05:09.875: sess_appl: ev(9=CC EV_CALL_D A T_END), cid(5), disp(0)

*Mar 1 00: 05: 09.875: cid(5)st(SSA CS MAPPI NG ev(SSA EV_CALL_DIGT)

ol dst ( SSA_CS_MAPPI NG) cfi d(-1)csize(0)in(1)fDest(0)

*Mar 1 00:05:09.875: ssabigit

*Mar 1 00:05:09.875: ssaDigit, 0. sct->digit 20, sct->digit len 2, usrDigit O,
di gi t _tone_node=0

*Mar 1 00:05:09.875: ssabigit,1. callinfo.called , digit 200, callinfo.calling 1001,
xrul ecal lingtag 0, xrulecalledtag O

*Mar 1 00:05:09.875: ssabigit, 7. callinfo.calling 1001, sct->digit 200, result 1

*Mar 1 00:05:09.995: cc_api_call _digit_begin (dstVdbPtr=0x0, dstCallld=0xFFFFFFFF,
srcCal I 1 d=0x5, digit=1, digit_begin_flags=0x1, rtp_timestanmp=0xEB32A6EOQ
rtp_expirati on=0x0, dest_mask=0x1)

*Mar 1 00:05:09.995: sess_appl: ev(10=CC EV_CALL_ DIA T_BEA N), cid(5), disp(0)

*Mar 1 00: 05: 09.995: cid(5)st(SSA CS MAPPI NG ev(SSA EV_DI G T_BEG N)

ol dst (SSA_CS_MAPPI NG) cfi d(-1)csize(0)in(1)fDest(0)

*Mar 1 00:05:09.995: ssalgnore cid(5), st(SSA_CS MAPPING), ol dst(0), ev(10)

*Mar 1 00:05:10.055: cc_api_call _digit_end (dstVdbPtr=0x0, dstCallld=0xFFFFFFFF,
srcCal I 1 d=0x5, di gi t =1, dur ati on=95, xrul eCal | i ngTag=0, xrul eCal | edTag=0, dest_mask=0x1),
di gi t _tone_node=0

*Mar 1 00:05:10.055: sess_appl: ev(9=CC EV_CALL_D A T_END), cid(5), disp(0)

*Mar 1 00: 05:10. 055: cid(5)st(SSA CS MAPPI NG ev(SSA EV_CALL_DIGT)

ol dst (SSA_CS_MAPPI NG) cfi d(-1)csize(0)in(1)fDest(0)

*Mar 1 00:05:10.055: ssabigit

*Mar 1 00:05:10.055: ssabigit, 0. sct->digit 200, sct->digit len 3, usrDigit 1,
di gi t _tone_node=0

*Mar 1 00:05:10.055: ssabigit,1. callinfo.called , digit 2001, callinfo.calling 1001,
xrul ecal lingtag 0, xrulecalledtag O



*Mar 1 00:05:10.055: ssabigit, 7. callinfo.calling 1001, sct->digit 2001, result O

*Mar 1 00:05:10.055: ccCall ReportDigits (calllD=0x5, enabl e=0x0)

*Mar 1 00:05:10.055: cc_api_call _report_digits_done (vdbPtr=0x6217C270, call | D=0x5,
di sp=0)

*Mar 1 00:05:10. 055: ssaSetupPeer cid(5) peer list: tag(1l) called nunmber (2001)

*Mar 1 00:05:10. 055: ssaSetupPeer cid(5), destPat(2001), matched(1), prefix(),
peer (622FB888), peer->encapType (2)

*Mar 1 00:05:10.055: ccCall Proceeding (calllD=0x5, prog_i nd=0x0)

*Mar 1 00:05:10.059: ccCall Set upRequest (I nbound call = 0x5, outbound peer =1, dest=,

par ams=0x621129C8 node=0, *cal || D=0x6

2112D38, prog_ind = 3) callingl E present O

*Mar 1 00:05:10.059: ccCall Set upRequest nunbering_type 0x81

*Mar 1 00:05:10.059: ccCall Set upRequest encapType 2 clid_restrict_disable 1 null _orig_clg
1 clid_transparent 0 callingNumber 1001

*Mar 1 00:05:10.059: dest pattern 2..., called 2001, digit_strip O

*Mar 1 00:05:10.059: callingNunber=1001, cal |l edNunber=2001, redirectNunber= display_info=

cal ling_oct 3a=0

*Mar 1 00:05:10.059: account Nunber=, fi nal DestFl ag=0,

gui d=3f 30. bbbe. 14ef . 11cc. 8008. f db1. 2d0c. c4a5

*Mar 1 00: 05:10.059: peer_tag=1

*Mar 1 00:05:10.059: ccIFCallSetupRequestPrivate: (vdbPtr=0x620BCAFO0,
callParams={called=2001],called oct3=0x81, calling=1001,calling oct3=0x0, calling xlated=

dest=,

false,
tr type = 1

*Mar 1 00: 05:10. 059:
{cal | ed=2001,

subscriber type_str=RegularLine, fdest=0, voice_peer_ tag=1},mode=0x0) vdbP

ccl FCal | Set upRequest Pri vate: (vdbPtr=0x620BCAF0, dest=, call Paranms=
call ed_oct3 0x81, calling=1001, cal ling_oct3 0x0, calling_xlated=fal se,

fdest =0, voice_peer_tag=1}, node=0x0, xltrc=-5)
*Mar 1 00:05:10.059: ccSaveDi al peer Tag (cal | | D=0x5, di al peer_t ag=0x1)
*Mar 1 00:05:10.059: ccCall Set Context (calllD=0x6, context=0x61DADSA0)
*Mar 1 00:05:10.059: sess_appl: ev(53=CC_EV_CALL_REPORT_DI A TS _DONE), cid(5), disp(0)
*Mar 1 00: 05:10.059: cid(5)st(SSA CS CALL_SETTI NG ev(SSA EV_CALL_REPORT_DI G TS_DONE)

ol dst ( SSA_CS_MAPPI NG) cfi d(-1)csize(0)in(1)fDest(0)
*Mar 1 00: 05:10.059: -cid2(6)st2(SSA CS_CALL_SETTI NG ol dst 2( SSA_CS_NMAPPI NG
*Mar 1 00:05:10.059: ssaReportDigitsDone cid(5) peer list: (enpty)
*Mar 1 00:05:10.059: ssaReportDigitsDone callid=5 Reporting disabl ed.
*Mar 1 00:05:10.063: dsp_digit_collect_off: [3/0/0] packet_|l en=8 channel _i d=128 packet _i d=
36
* Mar
*Mar 1

B

00:

00: 05: 10.

*Mar 1 00: 05: 10.
pr og_i nd=0x0)

*Mar 1 00:05:10.099: sess_appl: ev(21=CC_EV_CALL_PROCEEDI NG, cid(6), disp(0)

*Mar 1 00:05:10.099: cid(6)st(SSA CS CALL_SETTI NG) ev(SSA_EV_CALL_PROCEEDI NG
ol dst ( SSA_CS_MAPPI NG) cfi d(- 1) csi ze(0)in(0)fDest(0)

05:10. 063:
063:

095:

dsp_sout put: [3/0/0]
ht sp_process_event: [3/0/0, FXSLS OFFHOOK, E_HTSP_PROCEEDI NG
cc_api _cal |l _proceedi ng(vdbPt r =Ox620BCAF0, cal | | D=0x6,

*Mar 1 00: 05:10.099: -cid2(5)st2(SSA CS CALL_SETTI NG ol dst 2( SSA _CS_CALL_SETTI NG

*Mar 1 00: 05:10.099: ssaCal | Proc

*Mar 1 00:05:10.099: ccCetDi al peerTag (cal | | D=0x5)

*Mar 1 00:05:10.099: ssalgnore cid(6), st(SSA CS CALL_SETTING,oldst(1l), ev(21)

*Mar 1 00:05:10.103: cc_api_call _cut_progress(vdbPtr=0x620BCAF0, cal || D=0x6, prog_i nd=0x8,
si g_i nd=0x1)

*Mar 1 00:05:10.103: sess_appl: ev(22=CC_EV_CALL_PROGRESS), cid(6), disp(0)

*Mar 1 00: 05:10.107: cid(6)st(SSA CS CALL_SETTI NG ev( SSA EV_CALL_PROGRESS)

ol dst (SSA_CS_CALL_SETTING) cfi d(-1)csize(0)in(0)fDest(0)

*Mar 1 00:05:10.107: -cid2(5)st2(SSA _CS_CALL_SETTI NG ol dst 2( SSA_CS_CALL_SETTI NG

*Mar 1 00: 05:10.107: ssaCut Progress

*Mar 1 00:05:10.107: ccGCetDi al peerTag (cal | | D=0x5)

*Mar 1 00:05:10.107: ccCall CutProgress (calllD=0x5, prog_ind=0x8, sig_ind=0x1)

*Mar 1 00:05:10.107: ccConferenceCreate (confl D=0x6211310C, cal || D1=0x5
cal I | D2=0x6, tag=0x0)

*Mar 1 00:05:10.107: cc_api _bridge_done (confl D=0x3, srclF=0x620BCAFO, srcCall | D=0x6,
dst Cal I | D=0x5, disposition=0, tag=0x0)htsp_alert_notify

*Mar 1 00:05:10.107: cc_api _bridge_done (conflD=0x3, srclF=0x6217C270, srcCall | D=0x5,
dst Cal I | D=0x6, disposition=0, tag=0x0)

*Mar 1 00:05:10.107: cc_api _caps_ind (dstVdbPt r=0x620BCAFO, dstCal |l d=0x6, srcCalll d=0x5,



caps={codec=0x2EBFB, fax_rate=0x7F, vad=0x3, npbdem=0x2 codec_bytes=0, signal _type=3})

*Mar 1 00:05:10.107: cc_api _caps_ind (Playout: nmode 1, initial 60,mn 40, max 200)

*Mar 1 00:05:10.111: cc_api _caps_ind (dstVdbPtr=0x6217C270, dstCallld=0x5, srcCalll d=0x6
caps={codec=0x4, fax_rate=0x2, vad=0x1l, nmodem=0x0 codec_bytes=20, signal _type=2})

*Mar 1 00:05:10.111: cc_api _caps_ind (Playout: nmode 1, initial 60,mn 40, max 200)

*Mar 1 00:05:10.111: cc_api _caps_ack (dstVdbPtr=0x6217C270, dstCallld=0x5, srcCalll d=0x6
caps={codec=0x4, fax_rate=0x2, vad=0x1l, nmodem=0x0 codec_bytes=20, signal _type=2
seq_num st art =9062})

*Mar 1 00:05:10.111: cc_api _caps_ack (dstVdbPtr=0x620BCAFO, dstCallld=0x6, srcCalll d=0x5,
caps={codec=0x4, fax_rate=0x2, vad=0x1l, nmodem=0x0 codec_bytes=20, signal _type=2
seq_num st art =9062})

*Mar 1 00:05:10.111: cc_api _voi ce_node_event , calll D=0x5

*Mar 1 00: 05:10.111: Call Pointer =620005E8

*Mar 1 00:05:10.115: cc_api _caps_ind (dstVdbPt r=0x6217C270, dstCallld=0x5, srccCalll d=0x6,
caps={codec=0x4, fax_rate=0x2, vad=0x1l, nodem=0x0 codec_bytes=20, signal _type=2})

*Mar 1 00:05:10.115: cc_api _caps_ind (Playout: nmode 1, initial 60,mn 40, max 200)

*Mar 1 00:05:10.115: cc_api _caps_ack (dstVdbPtr=0x6217C270, dstCallld=0x5, srcCalll d=0x6
caps={codec=0x4, fax_rate=0x2, vad=0x1l, nmodem=0x0 codec_bytes=20, signal _type=2
seq_num st art =9062})

*Mar 1 00:05:10.123: cc_api _caps_ack (dstVdbPtr=0x620BCAFO, dstCal |l d=0x6, srcCalll d=0x5,
caps={codec=0x4, fax_rate=0x2, vad=0x1l, nmodem=0x0 codec_bytes=20, signal _type=2
seq_num st art =9062})

*Mar 1 00:05:10.123: cc_api _voi ce_node_event , calll D=0x5

*Mar 1 00: 05:10.123: Call Pointer =620005E8

*Mar 1 00:05:10.123: htsp_process_event: [3/0/0, FXSLS OFFHOOK, E_HTSP_VO CE_CUT_THROUGH|
*Mar 1 00:05:10.123: htsp_process_event: [3/0/0, FXSLS OFFHOOK, E_HTSP_VO CE_CUT_THROUGH|
*Mar 1 00:05:10.123: sess_appl: ev(29=CC_EV_CONF_CREATE_DONE), cid(5), disp(0)

*Mar 1 00:05:10.123: cid(5)st(SSA _CS_CONFERENCI NG_PROCRESS) ev( SSA_EV_CONF_CREATE_DONE)
ol dst (SSA_CS_CALL_SETTI NG cfi d(3)csize(0)in(1)fDest(0)

*Mar 1 00:05:10.127: -cid2(6)st2(SSA_CS_CONFERENCI NG_PROGRESS) ol dst 2( SSA_CS_CALL_SETTI NG

*Mar 1 00:05:10.127: ssaConf Creat eDoneAl ert

*Mar 1 00:05:10.127: sess_appl: ev(51=CC_EV_VO CE_MODE_DONE), cid(5), disp(0)

*Mar 1 00:05:10.127: cid(5)st(SSA CS_CONFERENCED ALERT) ev( SSA_EV_VO CE_MODE_DONE)

ol dst ( SSA_CS_CONFERENCI NG_PROGRESS) cfi d(3) csi ze(0)in(1)fDest(0)

*Mar 1 00:05:10.127: -cid2(6)st2(SSA_CS_CONFERENCED_ ALERT) ol dst 2( SSA_CS_CALL_SETTI NG

*Mar 1 00:05:10.127: ssalgnore cid(5), st(SSA _CS CONFERENCED ALERT), ol dst(4), ev(51)

*Mar 1 00:05:10.127: sess_appl: ev(51=CC_EV_VO CE_MODE_DONE), cid(5), disp(2)

*Mar 1 00:05:10.127: cid(5)st(SSA CS_CONFERENCED ALERT) ev( SSA_EV_VO CE_MODE_DONE)

ol dst ( SSA_CS_CONFERENCED ALERT) cfi d(3)csize(0)in(1)fDest(0)

*Mar 1 00:05:10.127: -cid2(6)st2(SSA_CS_CONFERENCED ALERT) ol dst 2( SSA_CS_CALL_SETTI NG

*Mar 1 00:05:10.127: ssalgnore cid(5), st(SSA _CS CONFERENCED ALERT), ol dst(4), ev(51)

*Mar 1 00:05:10.127: cc_process_notify_bridge_done (event=0x6210BDB38)

*Mar 1 00:05:10.131: cc_api _caps_ind (dstVdbPtr=0x6217C270, dstCallld=0x5, srcCalll d=0x6
caps={codec=0x4, fax_rate=0x2, vad=0x1l, nmodem=0x0 codec_bytes=20, signal _type=2})

*Mar 1 00:05:10.131: cc_api_caps_ind (Playout: nmode 1, initial 60,mn 40, max 200)

*Mar 1 00:05:10.131: cc_api _caps_ack (dstVdbPtr=0x6217C270, dstCallld=0x5, srcCalll d=0x6
caps={codec=0x4, fax_rate=0x2, vad=0x1l, nmodem=0x0 codec_bytes=20, signal _type=2
seq_num st art =9063})

*Mar 1 00:05:10.131: cc_api _caps_ind (dstVdbPtr=0x6217C270, dstCallld=0x5, srcCalll d=0x6
caps={codec=0x4, fax_rate=0x2, vad=0x1l, nmodem=0x0 codec_bytes=20, signal _type=2})

*Mar 1 00:05:10.131: cc_api_caps_ind (Playout: nmode 1, initial 60,mn 40, max 200)

*Mar 1 00:05:10.131: cc_api _caps_ack (dstVdbPtr=0x6217C270, dstCallld=0x5, srcCalll d=0x6
caps={codec=0x4, fax_rate=0x2, vad=0x1l, nmodenm=0x0 codec_bytes=20, signal _type=2
seq_num st art =9063})

*Mar 1 00:05:10.135: cc_api _caps_ack (dstVdbPtr=0x620BCAFO, dstCallld=0x6, srcCalll d=0x5,
caps={codec=0x4, fax_rate=0x2, vad=0x1l, nmodem=0x0 codec_bytes=20, signal _type=2
seq_num st art =9063})

*Mar 1 00:05:10.135: cc_api _voi ce_node_event , calll D=0x5

*Mar 1 00:05:10.135: Call Pointer =620005E8

*Mar 1 00:05:10.135: cc_api_caps_ack (dstVdbPtr=0x620BCAF0, dstCallId=0x6,
srcCallId=0x5, caps={codec=0x4, fax_ rate=0x2, vad=0xl, modem=0x0 codec_bytes=20,
signal_type=2, seq num_start=9063})

*Mar 1 00:05:10.135: cc_api _voi ce_npde_event , calll D=0x5

*Mar 1 00:05:10.135: Call Pointer =620005E8



*Mar 1 00:05:10.135: htsp_process_event: [3/0/0, FXSLS OFFHOOK, E_HTSP_VO CE_CUT_THROUGH|
*Mar 1 00:05:10.135: htsp_process_event: [3/0/0, FXSLS OFFHOOK, E_HTSP_VO CE_CUT_THROUGH|
*Mar 1 00:05:10.135: sess_appl: ev(51=CC_EV_VO CE_MODE_DONE), cid(5), disp(0)
*Mar 1 00: 05:10.135: cid(5)st(SSA CS CONFERENCED ALERT) ev(SSA EV_VO CE_MODE_DONE)
ol dst ( SSA_CS_CONFERENCED ALERT) cfi d(3)csize(0)in(1)fDest(0)
*Mar 1 00: 05:10.135: -cid2(6)st2(SSA CS CONFERENCED ALERT) ol dst 2( SSA_CS_CALL_SETTI NG
*Mar 1 00:05:10.135: ssalgnore cid(5), st(SSA _CS CONFERENCED ALERT), ol dst(4), ev(51)
*Mar 1 00:05:10.135: sess_appl: ev(51=CC_EV_VO CE_MODE_DONE), cid(5), disp(0)
*Mar 1 00: 05:10.135: cid(5)st(SSA CS CONFERENCED ALERT) ev(SSA EV_VO CE_MODE_DONE)
ol dst ( SSA_CS_CONFERENCED ALERT) cfi d(3)csize(0)in(1)fDest(0)
*Mar 1 00: 05:10.139: -cid2(6)st2(SSA CS CONFERENCED ALERT) ol dst 2( SSA_CS_CALL_SETTI NG
*Mar 1 00:05:10.139: ssalgnore cid(5), st(SSA _CS CONFERENCED ALERT), ol dst(4), ev(51)
*Mar 1 00:05:18.303: cc_api_call_connect ed(vdbPt r=0x620BCAF0, cal |l D=0x6), prog_ind =
2cc_api _call _connected: setting call Entry->connected to TRUE

*Mar 1 00:05:18.303: sess_appl: ev(8=CC_EV_CALL_CONNECTED), cid(6), disp(0)
*Mar 1 00:05:18.303: cid(6)st(SSA CS CONFERENCED ALERT) ev( SSA_EV_CALL_CONNECTED)
ol dst (SSA_CS_CALL_SETTI NG cfi d(3) csi ze(0)in(0)fDest(0)
*Mar 1 00:05:18.307: -cid2(5)st2(SSA _CS CONFERENCED ALERT) ol dst 2( SSA_CS_CONFERENCED_ALERT)
*Mar 1 00: 05:18.307: ssaConnect Al ert
*Mar 1 00:05:18.307: ccCetDial peerTag (cal | | D=0x5)
*Mar 1 00:05:18.307: ccCallConnect (callID=0x5), prog_ind = 2ccCallConnect:
setting callEntry->connected to TRUE

*Mar 1 00:05:18.307: ssaFl ushPeer TagQueue ci d(5) peer list: (enpty)htsp_connect: no_
of f hook 0

*Mar 1 00:05:18.307: htsp_process_event: [3/0/0, FXSLS OFFHOOK, E_HTSP_CONNECT]f xsl s_
of f hook_connect

*Mar 1 00:05:18.307: [3/0/0] set signal state = Ox6 timestanp = 0

*Mar 1 00:05:18.307: dsp_set_sig_state: [3/0/0] packet_| en=12 channel _i d=128 packet _i d=39
st at e=0x6 ti nest anp=0x0

*Mar 1 00:05:18.307: dsp_soutput: [3/0/0]
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*Mar 1 00:05:57.019: htsp_dsp_nessage: SEND/ RESP_SI G STATUS: state=0x4 tinestanp=16952
systi ne=35702

*Mar 1 00:05:57.019: htsp_process_event: [3/0/0, FXSLS CONNECT, E_DSP_SI G 0100]f xsls_
of f hook_onhook, HF durati on=500

*Mar 1 00:05:57.023: htsp_tinmer - 500 msec

*Mar 1 00:05:57.523: htsp_process_event: [3/0/0, FXSLS CONNECT, E_HTSP_EVENT_TI MER] f xsl s_
connect _wait_rel ease_req

*Mar 1 00:05:57.523: htsp_tinmer_stop

*Mar 1 00:05:57.523: cc_api _call _disconnect ed(vdbPtr=0x6217C270, cal || D=0x5, cause=0x10)

*Mar 1 00:05:57.523: sess_appl: ev(11=CC EV_CALL_DI SCONNECTED), cid(5), disp(0)

*Mar 1 00:05:57.523: cid(5)st(SSA _CS_ACTI VE) ev( SSA_EV_CALL_DI SCONNECTED)
ol dst ( SSA_CS_CONFERENCED ALERT) cfi d(3)csize(0)in(1)fDest(0)

*Mar 1 00:05:57.523: -cid2(6)st2(SSA_CS_ACTI VE) ol dst 2( SSA_CS_CONFERENCED_ALERT)

*Mar 1 00:05:57.523: ssa: Disconnected cid(5) state(5) cause(0x10)

*Mar 1 00:05:57.523: ccConferenceDestroy (conflD=0x3, tag=0x0)

*Mar 1 00:05:57.523: cc_api _bridge_drop_done (confl D=0x3, srclF=0x620BCAF0, srcCall | D=0x6,
dst Cal I | D=0x5, disposition=0 tag=0x0)

*Mar 1 00:05:57.523: cc_api _bridge_drop_done (confl D=0x3, srclF=0x6217C270, srcCall | D=0x5,



dst Cal I | D=0x6, disposition=0 tag=0x0)
*Mar 1 00:05:57.523: sess_appl: ev(30=CC_EV_CONF_DESTROY_DONE), cid(5), disp(0)
*Mar 1 00: 05:57.523: cid(5)st(SSA CS CONF_DESTROYI NG) ev( SSA_EV_CONF_DESTROY_DONE)
ol dst (SSA_CS_ACTI VE) cfid(-1)csize(0)in(1)fDest(0)
*Mar 1 00: 05:57.527: -cid2(6)st2(SSA CS CONF_DESTROYI NG) ol dst 2( SSA_CS_CONFERENCED ALERT)

*Mar 1 00:05:57.527: ssaConf DestroyDone

*Mar 1 00:05:57.527: ccCall D sconnect (calllD=0x5, cause=0x10 tag=0x0)

*Mar 1 00:05:57.527: ccCall Di sconnect: existing_cause = 0x0, new _cause = 0x10

*Mar 1 00:05:57.527: ccCall D sconnect (calllD=0x6, cause=0x10 tag=0x0)

*Mar 1 00:05:57.527: ccCall Di sconnect: existing_cause = 0x0, new_cause = 0Ox10htsp_rel ease_

req: cause 16, no_onhook O

*Mar 1 00:05:57.531: htsp_process_event: [3/0/0, FXSLS WAl T_RELEASE REQ
E HTSP_RELEASE REQ fxsls_waitrls_ req_rls

*Mar 1 00:05:57.531: [3/0/0] set signal state = Ox4 timestanp = 0

*Mar 1 00:05:57.531: dsp_set_sig_state: [3/0/0] packet_| en=12 channel _i d=128 packet _i d=39
st at e=0x4 ti nest anp=0x0

*Mar 1 00:05:57.531: dsp_soutput: [3/0/0]htsp_report_onhook_sig

*Mar 1 00:05:57.531: cc_api_call _feature: (vdbPtr=0x6217C270, call | D=0x5,
feature_ind.type=5

*Mar 1 00:05:57.535: cc_api _call _di sconnect_done(vdbPtr=0x6217C270, call|D=0x5, disp=0,
t ag=0x0)

*Mar 1 00:05:57.535: hdsprm.cl ose_cl eanup

*Mar 1 00:05:57.535: sess_appl: ev(28=CC_EV_CALL_FEATURE), cid(5), disp(0)

*Mar 1 00: 05:57.535: cid(5)st(SSA _CS_DI SCONNECTI NG) ev( SSA_EV_CALL_FEATURE)
ol dst ( SSA_CS_CONF_DESTROYI NG) cfi d(-1)csi ze(0)in(1)fDest(0)

*Mar 1 00:05:57.535: -cid2(6)st2(SSA _CS_DI SCONNECTI NG) ol dst 2( SSA_CS_CONFERENCED_ALERT)

*Mar 1 00:05:57.535: ssalgnore cid(5), st(SSA_CS DI SCONNECTI NG, ol dst(7), ev(28)

*Mar 1 00:05:57.539: sess_appl: ev(12=CC_EV_CALL_DI SCONNECT_DONE), cid(5), disp(0)

*Mar 1 00: 05:57.539: cid(5)st(SSA _CS_DI SCONNECTI NG) ev( SSA_EV_CALL_DI SCONNECT_DONE)
ol dst ( SSA_CS_DI SCONNECTI NG) cfi d(-1)csize(0)in(1)fDest(0)

*Mar 1 00:05:57.539: -cid2(6)st2(SSA_CS_DI SCONNECTI NG) ol dst 2( SSA_CS_CONFERENCED_ALERT)

*Mar 1 00: 05:57.539: ssaDi sconnect Done

*Mar 1 00:05:57.543: cc_api _icpif: expect factor = 0

*Mar 1 00:05:57.543: g113_cal cul ate_i npai rment (del ay=101, 1 0ss=0), 10=0 1q=0 |dte=0 |dd=0
le=9 Itot=9

*Mar 1 00:05:57.543: cc_api _call _di sconnect _done(vdbPtr=0x620BCAFO, cal || D=0x6, disp=0,
t ag=0x0)

*Mar 1 00:05:57.547: sess_appl: ev(12=CC_EV_CALL_DI SCONNECT_DONE), cid(6), disp(0)

*Mar 1 00:05:57.547: cid(6)st(SSA_CS_DI SCONNECTI NG) ev( SSA_EV_CALL_DI SCONNECT_DONE)
ol dst ( SSA_CS_CONFERENCED ALERT) cfid(-1)csize(1)in(0)fDest(0)

*Mar 1 00: 05:57.547: ssaDi sconnect Done
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